[bookmark: _GoBack] KD5066 - Sample questions on multiplexing

1)
Three signals are to be transmitted on and within the x-band microwave link. The link has a frequency range from 8.2GHz to 11.6GHz. The frequency range of each signal is from 1GHz – 2GHz. 
Design a block diagram to implement this system. You need to use frequency divisional multiplexing. You should have a guard band of 0.1GHz on either side of each signal. In your block diagram you should indicate the frequency response at each key stage. 

2)
The frequency range of a free-space radio link is from 38KHz to 56KHz. Four signals, each with a frequency range from 4KHz to 6KHz, are to be transmitted on the radio link using Frequency Divisional Multiplexing. A guard band of 2KHz is required at either side of each signal. 
Design a block diagram to implement this system and indicate the frequency response at key stages. 

3) 
Three signals are to be transmitted using a radio link. The radio link has a frequency range from 30KHz to 40KHz. The frequency range of each signal is from 4KHz – 6KHz. Design a block diagram to implement this system. You need to use frequency divisional multiplexing. You should have a guard band of 1KHz on either side of each signal. In your block diagram you should indicate the frequency response at each key stage. 
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